RunStatus=0
Transito = false
F_MidD1=0

nMidi = Lung(RunStatus)

Midi_ST = RunStatus

Y

Midi_DO = bMidi
F_MidD1=1

RunStatus=0?

(Error: ignora bMidi)

End

bMidi
da seriale

nMidi=0?

nMidi = Lung(bMidi)

Real Time Message?
NO

RunStatus = bMidi

SI

P> Mid_9
\

TestMsgMidi: Bx 0 Cx ? v

NO

AN

Mid_6 v

Midi_ST = bMidi

Mid_10
3

>

nM

>

v Mid_8

nMidi--
Transito=true

Mid_4

End

Mid_1

StatusByte? 0

Real Time Message?

nMidi=0

bMidi=0xF7?

NO 3 Midi_DO = bMidi
F_MidD1=1

Midi_D1 = bMidi

(Error: Abort Message)
— Inizia nuovo messaggio
con StatusByte corrente

NO

Transito=false

End

nMidi=0?

F_MidD1=0

f Msg_Analisi

<

Analisi messaggio Midi
(NON Trasmesso)
Midi_ST
Midi_DO0
Midi_D1




